Slope Practice
Find the slope of the line.

1.
(0 , 5) and (3 , 5)




2.
(0 , -5) and (-2 , -3)
slope _______





slope _______


3.
(-6 , -3) and (-5 , 7)



4.
(-4 , -3) and (2, -3)
slope _______





slope _______
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5.







6.

[image: image8.emf]slope __​​________




m = ___​​​​​​________


7.







8.


rate__________




slope__________
Slope EOC Practice

1)  A small business purchased a van to handle its delivery orders. The graph below shows the value of this van over a period of time.


Which of the following best describes this situation?

A 
The slope of the line is 16,000.

B 
The slope of the line is 1600.

C 
The slope of the line is -1600.
D 
The slope of the line is 1/320.
2)
What are the slope of a line that has the equation  x − 3y = 18?
A 
m = 
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m = 
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B 
m = - 6 
D 
m = 3

3)  The graph below shows the number of caramel apples and the number of popcorn balls that the students in the math club need to sell at their bake sale to raise $200.


What is the slope of the line?
A 
-50

B 
-40

C 
-1.25
D
-0.80
4)  What is the slope of the line that contains the points (–3, 1) and (–2, 4)?

F
3
G 
1/3
H 
-3/5
J 
5/3
5)  What is the equation of the line has a slope of zero?

A 
y = −5x + 4
B 
x = −5

C 
y = −8

D 
y = −8x
6)  Which equation describes the line has a slope of -4/3?

F 
y = 3x + 4

G 
x = 4y + 3

H 
3x + 4y = 12

J 
4x + 3y = 12

7)  WHAT IS THE SLOPE containing the set of ordered pairs shown below?

(−15, 12), (−5, 8)
A      -3/5
B 
-2/5
C 
-1/5
D 
-4/5
8)  What is the slope of the following table?

[image: image3.emf]
9)  What is the slope of the line described by the equation 8x - 16y = −18?
[image: image4.emf]
10) Find the slope of the line identified by the equation -400x + 8y = 20.
[image: image5.emf]
11)  What is the slope of the line with data from the table to the right?
 [image: image6.emf]
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